# ENJOY THE FAMOUS GREEK OLIVES.

Produced by the largest greek olive processing industry



# HAND PICKED WITH EXTRA CARE



Olives are harvested in autumn and winter. More specifically, green olives are picked at the end of September until October. Black olives are picked from the middle of October until the end of November. Kalamata olives are collected from the middle of November until the end of December or early January.

Olives are naturally bitter fruits that are typically subjected to fermentation or cured with lye or brine to make them more palatable.

All olives are allowed to ferment before being packed in a brine solution.

Olives can also be flavored by soaking them in various marinades, or removing the pit and stuffing them.

# **QUALITY ASSURANCE, R&D**

Certifications according to: ISO 22000:2005 IFS BRC

# Size of olive

A commonly used classification is the following:

ATLAS	70-90	JUMBO	181-200
SUPER MAMMOUTH	91-100	EXTRA LARGE	201-230
MAMMOUTH	101-110	LARGE	231-260
SUPER COLOSSAL	111-120	SUPERIOR	261-290
COLOSSAL	121-140	BRILLIANT	291-320
GIANTS	141-160	FINE	321-350
EXTRA JUMBO	161-180	BULLETS	351-380

# FAMOUS GREEK OLIVES

TASTY NATURAL NUTRITIVE HEALTHY MEDITERRANEAN EXCEPTIONAL







# The Green Chalkidiki Olive

Green Halkidiki olives are grown in the peninsula of Halkidiki region of Northern Greece. The deep blue of the Aegean Sea, the bright sun and the fertile Greek land created these impressive and tasty table olives.

# The Kalamata Olive

The world famous Kalamata olives with brownish-black color and characteristic "almond" shape have a unique and splendid taste from all other olive varieties of the world. The Kalamata olives grow only in specific regions of Greece and they are considered a special product. Kalamata olives are produced using traditional lactic acid fermentation, with no colouring added during the process.



# The Conservolea Olive (Green & Black)

Conservolea olives are grown in various places in Greece, mainly in Central and West Greece (Agrinio, Amfissa, Arta, Lamia, Pilio). They are also called Amfissa or round olives (Olea europaea var. Rotund) usually named after the place they are grown. Their shape is quite round and their characteristic is their color variation from green, "blonde" to black, according to their maturity.

Both, black and green olives are particulary known in Greece for their strong flavor.

# The MAJOR MAJOR GREEK OLIVE VARIETIES

# GREEK OLIVES ... NATURALLY!

In ancient Greece, olive trees were considered pure and sacred.

Nowadays, Greek olive groves stretch from the rugged mountaintops to the Mediterranean Sea. Greek olive trees are among the oldest in the Mediterranean area - over 3,000 years old - and continue to offer their wholesome fruit, both olives and olive oil, to the people of the world.

Our products respect this heritage and bring the Mediterranean diet to your table.

Greek Olives are rich in olive oil, polyphenols and Vitamin E with great antioxidant properties.

# Our olives are:

NATURAL PRODUCTS WITHOUT ADDITIVES AND PRESERVATIVES FREE OF ANY ARTIFICIALLY ADDED COLORS











# THE LARGEST OLIVE PROCESSING INDUSTRY IN GREECE

INTERCOMM FOODS S.A., founded in 1990, is located in the low Thessalian district of Larissa, in Central Greece and is one of the leading Greek exports companies. The company has strong experience in PRIVATE LABEL products, while developing in parallel its main brand DELPHI.

The company's headquarters, warehouse and production facilities cover an area of approximately 160.000m<sup>2</sup>.

There are two factories divisions, the OLIVE factory and the FRUIT factory.

In 1999, the company performed a large investment in the field of olives, with modern installations and stateof-the-art equipment. Through this investment, Intercomm has succeeded to become a leader olive processing company in Greece, with the highest standards, gaining more and more the recognition of the table olives market worldwide.

Intercomm is also a leader in ASEPTIC fruit, supplying peach and apricot to top Clients all over the world and satisfying all quality requirements.

# SOCIAL RESPONSIBILITY

member







Recycling



Waste water treatment



### Intercomm Foods SA

8th km National Rd Larissa-Sykourio 41500 Larissa, P.O. Box 1127, Greece

**tel** +30/2410 575 092-93 **fax** +30/2410 575 091

OLIVES SECTOR olivesales@intercomm.gr FRUIT SECTOR fruitsales@intercomm.gr



www.intercomm.gr

1MW photovoltaic panel isntallation

# GREEK OLIVE ROUTES



# **DELPHI** Brand



The FAMOUS

GREEK **OLIVES** 



**IN GLASS JARS** 

314ml









282ml

























212ml





500ml





370ml







720ml





Retail packages

We pack our olives in any type of glass jars (125ml - 3.7lt).



1000ml



1062ml





# Retail packages

PACKAGE	DRAINED WEIGHT (whole)	DRAINED WEIGHT (pitted)	NET WEIGHT	GROSS WEIGHT	PALLET DIMENSIONS	UNITS / Tray	TRAYS/ Layer	LAYERS / PALLET	TRAYS/ Pallet	PALLET HEIGHT (cm)	PALLET WEIGHT (kg)
212ml Glass Jar	190g	190g		350g	0.80X1.20m	12	16	15	240	145	1050
	1909	1509		550g	1.00X1.20m	12	18	15	270	145	1170
282ml Glass Jar	230g	230g		400g	0.80X1.20m	12	9	20	180	147	900
	2309	2509			1.00X1.20m	12	14	20	280	147	1380
314ml Glass Jar	180g	145g	290g	470g	0.80X1.20m	12	13	10	130	132	760
	loog	Itoy	2709	4709	1.00X1.20m	12	17	10	170	132	990
370ml Glass Jar	200g	00g 185g 350g	350a	575g	0.80X1.20m	12	13	10	130	155	940
	2009	iosy	5509	5759	1.00X1.20m	12	17	10	170	155	1210
500ml Glass Jar	285g	240g	480g	775g	0.80X1.20m	12	13	8	104	150	1000
	2059	2409	HOUG	7759	1.00X1.20m	12	17	8	136	150	1300
720ml Glass Jar	400g	340g	680g	1040g	0.80X1.20m	12	9	9	81	150	1050
	4009	JHUY	ooog	точод	1.00X1.20m	12	10	9	90	150	1165
1000ml Glass Jar	595g	480g	980g	1400g	0.80X1.20m	6	16	6	96	125	840
	<i>J</i> /Jg	HOUG	2009	IHOUG	1.00X1.20m	6	18	6	108	125	940
1062ml Glass Jar	640g	575g	1000g	1570q	0.80X1.20m	6	9	8	72	155	880
	UTUY	5759	1000g	15709	1.00X1.20m	6	10	9	90	145	880
1700ml Glass Jar	950a	900a	1600a	2330g	0.80X1.20m	6	6	7	42	126	800
1700ml Glass Jar	950g	900g	1600g		1.00X1.20m	6	7	9	63	252	920

# Delphi 212ml Glass Jar

Green olives paste Kalamata olives paste Black olives paste

### Delphi 282ml Glass Jar

**Bruschetta olives Bruchetta Pepper Bruschetta SDT** 

### Delphi 314ml Glass Jar

- Green whole olives
- Green whole marinated olives
- **O** Green olives stuffed with garlic & jalapeno
- O Green olives stuffed with pepper & jalapeno
- Kalamata whole olives
- Kalamata whole marinated olives
- Mix whole marinated olives in SFO

# Delphi 314ml Glass Jar (Bio)

- Green organic whole olives
- Kalamata organic whole olives
- Green olives stuffed natural pepper

### Delphi 314ml Glass Jar

- Green whole olives
- O Green pitted olives
- **O** Green stuffed with lemon paste
- Black oxidised whole olives
- O Black oxidised pitted olives

# Delphi 370ml Glass Jar

- Green whole olives
- Green pitted olives 0
- Green olives stuffed with pepper paste Θ
- Ο Green olives stuffed with almond
- Ο Green olives stuffed with garlic
- Ο Green olives stuffed with sundried tomatoes
- Ο Green olives stuffed with jalapeno
- Green olives stuffed with gerkins Θ
- Ο Green olives stuffed with lemon paste
- Green olives stuffed with piri piri Θ
- Kalamata olives
- 0 Kalamata pitted olives (in brine)
- Kalamata dried olives (without brine)
- Black natural olives
- Black dried olives (in brine) Green Peppers
  - Sundried tomatoes in sunflower oil

# Easy Open 425ml Tin Can

- Green whole olives
- 0

# Easy Open 850ml Tin Can

- Kalamata whole olives
- Black oxidised whole olives

# Delphi 500ml Glass Jar

• Green olives stuffed with lemon and coriander

# Delphi 500ml Glass Jar (Monastery)

the **FAMOUS** 

**GREEK OLIVES** 

IN GLASS JARS

DELPHI Brand

- Green whole olives
- Kalamata whole olives Black oxidised whole olives

# Delphi 720ml Glass Jar

- Green whole olives
- Green pitted olives 0
- Kalamata whole olives
- Black oxidised whole olives
- 0 Black oxidised pitted olives

# Delphi 1000ml Glass Jar

Green olive paste Bruschetta roasted red pepper

# Delphi Orcio 1062ml Glass Jar

- Green pitted olives
- Kalamata whole olives
- Black oxidised pitted olives 0 Mix whole marinated olives

Delphi 2000ml Glass Jar

Sundried tomatoes in sunflower oil





www.intercomm.gr

Black oxidised whole olives 0 Black oxidised pitted olives

# Green pitted olives

- Green whole olives
- Green pitted olives

# Green sliced olives

- O Black oxidised pitted olives



FAMOUS

GREEK OLIVE SNACKS





60g



150g

200g

200g

# Snacks

A quick on the go snack, marinated with extra virgin olive oil. Enjoy our juicy, healthy tasty snacks! Perfect for short launch breaks.







# Snacks

	PACKAGE	DRAINED WEIGHT (whole)	DRAINED WEIGHT (pitted)	GROSS WEIGHT (whole)	GROSS WEIGHT (pitted)	PALLET DIMENSIONS	UNITS / TRAY	TRAYS / Layer	LAYER / PALLET	CARTONS / PALLET	PALLET HEIGHT (cm)	PALLET WEIGHT (kg)
bags	30g Pillowbag	30g	30g	35g	35g	0.80X1.20m	15	25	10	250	130	170
Pillowbags	60g Pillowbag	60g	60g	65g	30g	0.80X1.20m	15	25	10	250	170	310
Doypacks	150 - 200g Doypack	200g	150g	210g	160g	0.80X1.20m	8	22	9	198	181	380

# Delphi 30g Pillowbag

- Green pitted olives
- Kalamata pitted olives
- Mix pitted olives (green & Kalamata)



# Delphi 60g Pillowbag

- Green pitted olives
- Kalamata pitted olives
- Mix pitted olives (green & Kalamata)

# Delphi 150 - 200g Doypack

lhe

- Green pitted olives
- Kalamata whole olives
- Mix whole olives (green & Kalamata)

- Natural Snack
- GMO Free
- Rich in **Antioxidants**
- No Preservatives
- Vegan











# Foodservice

All our delicious, hand picked olives, in all sizes and different stuffings, can be packed in bulk packages of either plastic drums (1.5lt, 2lt, 3.3lt, 5lt, 8lt, 20lt, 80lt, 220lt), or tins (8lt, 20lt, A10, A12), in order to serve the needs of wholesalers and repackers.







# INTERCOMM BRAND



# Foodservice

C

	PACKAGE	DRAINED WEIGHT	NET WEIGHT	GROSS WEIGHT	PALLET DIMENSIONS	UNITS / TRAY	TRAYS / Layer	LAYERS / Pallet	TRAYS / Pallet	PALLET HEIGHT (cm)	PALLET WEIGHT (kg)
	1.5lt	900g • 800g •	1.6kg	1.8kg	0.80x1.20m	6	9	8	72	185	790
	Plastic Pot	900g • 800g •	1.6kg	1.8kg	1.00x1.20m	6	13	8	104	185	1130
	2lt Plastic Pot Pasteurized	1.2kg ● 1kg ●	2kg	2.3kg	1.00x1.20m	6	13	5	65	130	940
	3lt Plastic Pot	2kg • 1.8kg •	3.3kg	3.6kg	0.80x1.20m	6	5	6	30	180	680
	3.3lt	2kg 💽 🔿	3.3kg	3.5kg	0.80x1.20m	6	7	7	49	194	1100
	Plastic Pot	2kg 🔍 O	3.3kg	3.5kg	0.80x1.20m	6	5	6	30	170	680
	5lt Plastic Pot	3kg • 2.6kg •	4.7kg	5kg	0.80x1.20m	4	6	5	30	155	630
ns	8lt	5kg 🕒 4kg O	8kg	8.4kg	0.80x1.20m	2	15	4	60	155	1040
Plastic Pots or Drums	Plastic Pot	5kg 🔴 4kg O	8kg	8kg	1.00x1.20m	2	11	4	44	140	770
or [	20lt Plastic Pot	13kg 🛛 🌢 10kg 🖸 🧿	19kg	20.5kg	0.80x1.20m		16	3	48	144	1030
ots		13kg 🔹 10kg 🖸 🧿	19kg	20.5kg	1.00x1.20m		13	3	39	144	840
	80lt	50kg 🔵 🔿	80kg						8	88	730
Sti	Plastic Drum	50kg	80kg	85kg	1.00x1.20m				6	88	550
Pla	220lt Plastic Drum	150kg ● O 130kg ● O	230kg	235kg	1.00x1.20m				4	115	960
	8lt Tin	5000g • 4000g •	8.5kg	9.1kg	0.80x1.20m	2	10	5	50	150	930
	oit III	5000g • 4000g •	8.5kg	9.1kg	1.00x1.20m	2	15	4	60	120	1100
	20lt Tin	13kg 🔹 10kg 🖸 🖸	19kg	20.5kg	0.80x1.20m		15	3	45	150	945
	2011 1111	13kg 🔹 10kg 🖸 🖸	19kg	20.5kg	1.00x1.20m		20	3	60	120	1250
	A 10 Tin Can	1750g ● 1560g ● <b>○</b>	3100g	3400g	0.80x1.20m	3	11	8	88	160	920
		1750g ● 1560g ● <b>○</b>	3100g	3400g	1.00x1.20m	3	14	7	98	140	1020
	A 12 Tin Can	2500g • 2000g • •	4250g	4650g	0.80x1.20m	3	11	5	55	140	790
Tins		2500g • 2000g • •	4250g	45g	1.00x1.20m	3	14	5	70	140	1000

• whole • pitted • stuffed









850ml



# Black olives (oxidised in brine)

Confit olives are hyginecally processed into large oxidation tanks, under the continuous monitoring of our Quality Department, until their final stage of sterilisation. Through this process, our confit olives gain their characterisitic black colour and their sweet taste.







DELPHI BRAND

# Black olives (oxidised in brine)

	PACKAGE	DRAI WEI		NET WEIGHT	GROSS WEIGHT	PALLET DIMENSIONS	UNITS / TRAY	TRAYS / Layer	LAYERS / Pallet	TRAYS / Pallet	PALLET HEIGHT (cm)	PALLET WEIGHT (kg)
	425ml	220g 170g		400g	470g	0.80X1.20m	12	12	12	144	151	830
	Tin Can	220g 170g	•	400g	470g	1.00X1.20m	12	15	12	180	151	1030
	850ml	465g 382g		820g	940g	0.80X1.20m	12	6	10	60	136	705
	Tin Can	465g 380g	•	820g	940g	1.00X1.20m	12	10	9	90	125	1050
	A 10 Tin Can	1750g 1560g	-	3100g	3400g	0.80X1.20m	3	11	7	77	160	830
		1750g 1560g		3100g	3400g	1.00X1.20m	3	14	7	98	140	1020
	A 12 Tin Can	2500g 2000g	-	4250g	4650g	0.80X1.20m	3	11	5	55	140	790
		2500g 2000g		4250g	4650g	1.00X1.20m	3	14	5	70	140	1000
	8lt Tin	5000g 4000g	-	8000g	8700g	0.80X1.20m	2	10	5	50	150	900
<u>ר</u>		5000g 4000g	-	8000g	8700g	1.00X1.20m	2	15	4	60	120	1070

• whole • pitted

л С





www.intercomm.gr

# ENJOY THE GREEK SUNSHINE FRUITS.

Tasty & juicy preserved GREEK peaches and apricots





**Apricot** (*prunus armeniaca*) and **Peach** (*Prunus persica*) are members of the Rose family and distinguished by their velvety skin.

The apricots are thought to be native of Armenia and the peach originated in China, from where they were brought to regions along the Silk Road.

From the 1950s onwards both trees are the mainstays of the agricultural exports in Greece.

APRICOT	PEACH
Yellow to orange color Intense fruity taste	Gold – yellow color Intense fruity taste
Several nutrients that promote good health	Several nutrients that promote good health <b>Harvest period:</b> 15.7 -10.9
Harvest period: 15.6 -10.7	Main cultivation area: Northern Greece, Macedonia.
Main cultivation area: Pelopponeese, Thessaly,Macedonia.	Cultivation in sq: 400.000 approximately

# **HARVEST & PRODUCTION**







AND AND

Intercomm Foods SA 8th km National Rd Larissa-Sykourio 41100 Larissa, P.O. Box 1127, Greece

**tel** +30/2410 575 092-93 **fax** +30/2410 575 503

OLIVES SECTOR olivesales@intercomm.gr FRUIT SECTOR fruitsales@intercomm.gr

# ONE OF THE LARGEST PRESERVED FRUIT EXPORTERS IN GREECE

INTERCOMM FOODS S.A., founded in 1990, is located in the low Thessalian district of Larissa, in Central Greece and is one of the leading Greek exports companies. The company has strong experience in PRIVATE LABEL products, while developing in parallel its main brand DELPHI.

The company's headquarters, warehouse and production facilities cover an area of approximately 160.000m<sup>2</sup>.

There are two factories divisions, the OLIVE factory and the FRUIT factory.

In 1999, the company performed a large investment in the field of olives, with modern installations and state-of-the-art equipment. Through this investment, we have succeeded to be a leader olive processing company in Greece, with the highest standards, gaining more and more the recognition of the table olives market worldwide.

Intercomm is also a leader in ASEPTIC fruit, supplying peach and apricot to top Clients all over the world and satisfying all quality requirements.

/ww.intercomm.gr



# -th.Mat Delph) Peach Halves in Syrup Delphy Apricot Halves in Syrup

# Peach & Apricot halves

are canned from completely natural, carefully selected fruits of the Greek Land.

Can be easily stored in the warehouse in ambient temperatures.

Ideal in cakes, as toppings for tarts or plain as delicious dessert.

# **CHOICE QUALITY | RICH IN NATURAL** TASTE, COLOR & AROMA | **ABSENCE OF ARTIFICIAL FLAVORS**

**PEACH HALVES** IN SYRUP 720ml GLASS JAR

**PEACH SLICES** IN SYRUP 720ml GLASS JAR

**PEACH HALVES** IN SYRUP 580ml «ORCIO» GLASS JAR

**APRICOT HALVES** IN SYRUP 580ml IN SYRUP 720ml «ORCIO» GLASS JAR GLASS JAR

**APRICOT HALVES** 



# Peach Compotes

consist of 60% firm fruit pieces and 40% puree with a vibrant yellow color.

Ideal as a spread or as stewed fruit used in yogurt / ice cream and confectionery.

**PEACH COMPOTE** 370ml GLASS JAR

**PEACH COMPOTE** 446ml **GLASS JAR** 



# Peach & Apricot in glass jars

Volume	580ml "Orcio"	720ml
Net Weight	550g	680g
Drained Weight	330g	400g
Jar's Dimensions in mm		
(Height/diameter)	108/101	137/92
Lid	T.O 82mm	T.O 82mm
Label	2 Labels (Side & Lid)	Side
Brix Level, Choice Quality	14-16 Or 17-19	14-16 Or 17-19
Shelf Life	3 Years	3 Years
Units Per Tray	12	12
Trays / Pallet (Pallet 0.80x1.20m)	66 Trays / Pallet	64 Trays / Pallet
Trays / Truck (Pallet 0.80x1.20m)	2178 Trays	1856 Trays
Trays / FCL	1820 Trays (20')	1880 Trays (20')
(Loose Load)	2220 Trays (40')	1880 Trays (40')
Trays / 40' FCL	2100 Trays	1800 Trays
(Pallet 0.80x1.20m)	(84 trays/pallet)	(72 trays/pallet)
Trays / 40' FCL	2184 Trays	1890 Trays
(Pallet 1.00x1.20m)	(104 trays/pallet)	(90 trays/pallet)

# Peach Compote in glass jars

Volume	370ml	420ml
Net Weight	360g	446g
Jar's Dimensions in mm (Height/diameter)	119/72	96/85
Lid	T.O 63mm	T.O 82mm
Label	Side	Side
Brix Level, Choice Quality	16-26	16-26
Shelf Life	3 Years	3 Years
Units Per Tray	12	12
<b>Trays / Pallet</b> (Pallet 0.80x1.20m)	130 Trays / Pallet	99 Trays / Pallet
<b>Trays / Truck</b> (Pallet 0.80x1.20m)	3380 Trays	2871 Trays
<b>Trays / FCL</b> (Loose Load)	3270 Trays	3000 Trays





GREEK

FRUITS

SUNSHINE

www.intercomm.gr



# Canned Peach & Apricot

Greek peaches and apricots are ripening under the bright greek sunshine becoming unique for their natural taste, texture and color. The fruits are picked when ripe and then processed right away, thus retaining even more nutritional benefits than fresh fruits do.

# HIGH NUTRITIONAL VALUE | RICH IN VITAMIN A, B AND POTASSIUM | LOW FAT HEALTHY SNACK | EASY TO SERVE | AVAILABLE ALL YEAR

**PEACH HALVES** IN SYRUP 850ml, 2650ml, 3150ml, 4250ml METAL CAN

**PEACH SLICES** IN SYRUP 850ml, 2650ml, 3150ml, 4250ml METAL CAN



Delphi

Peach

Halves in Syrup

420000

China

(Delphi)

Peach

Slices in Syrup

4200g e

Delphi

Peach

Halves in Syrup

3060g e

Deph Peach

Slices in Syrup

3060g e

Delphi

Peach

820a e

Delphi

Peach

820ge

**APRICOT HALVES** IN SYRUP 850ml, 2650ml, 3150ml, 4250ml METAL CAN



# Peach & Apricot in metal cans

Volume	850ml	850ml	2650ml	3150ml	4250ml
Size	1kg	1kg	A9	A10	A12
Net Weight	820g	820g	2600g	3060g	4200g
Drained Weight	470g	470g	1500g	1750g	2400g
<b>Tin's Dimensions in mm</b> (Height/diameter)	99/199	99/199	153/153	153/178	153/244
Brix Level	14-16 or 17-19	14-16 or 17-19	14-16 or 17-19	14-16 or 17-19	14-16 or 17-19
Shelf Life	3 Years	3 Years	3 Years	3 Years	3 Years
Units Per Tray or Carton	12	24	6*	6*	6*
Trays Or Cartons/Pallet (Pallet 0.80x1.20m)	66 Trays/Pallet	36 Cartons/Pallet	45 Cartons/Pallet	35 Cartons/Pallet	30 Cartons/Pallet
<b>Trays or Cartons/Truck</b> (Pallet 0.80x1.20m)	2046 Trays	1008 Cartons	1305 Cartons	1120 Cartons	810 Cartons
<b>Trays or Cartons/20' FCL</b> (Loose Load)	1830 Cartons	918 Cartons	1176 Cartons	1010 Cartons	750 Cartons

\* can be packed also in 3 unit tray









We process peach and apricot fruit pieces in bulk aseptic packs without the use of preservatives. All fruits are carefully handpicked and delivered to our aseptic production lines.

Aseptics are semi finished products for industrial use. Our clients are jams producers, baby food industry, fruit preparators (for yogurt production, pastries etc), soft drinks (like smoothies) or peach and apricot juices with small pieces of fruits.

# Industrial Clients

Jam Producers Fruit Preparation Processors Juice Factories Yogurt Factories Baby Food Factories

# Range of products

Peach	Apricot
Katerina, Fortuna Loande,	Bebeco
A-37, Andross, Evert	
Mid July	Mid June
to early September	to early July
annually	annually
10 X 10 X 10	10 X 10 X10
6 X 6 X 6	Halves
12 X 12 X 12	14 X 12 X length
16 X 16 X length	20 X 20 X length
14 X 12 X length	
20 X 20 X 16	
Slices	
Slivers	
Aseptic bags 2 inches HB	Aseptic bags 2 inches HB
In metal drums (200kg)	In metal drums (200kg)
In carton drums (160 kg)	In carton drums (160 kg)
In 1-ton carton box*	
-	Katerina, Fortuna Loande, A-37, Andross, Evert Mid July to early September annually 10 X 10 X 10 6 X 6 X 6 12 X 12 X 12 16 X 16 X length 14 X 12 X length 20 X 20 X 16 Slices Slivers Aseptic bags 2 inches HB In metal drums (200kg) In carton drums (160 kg)





\* For special production only



# Peach & Apricot

Full Sea Container	Dry Transport Mean*	Туре	Drums**	Drum Type	Pallets	Pallet Type	Drums/ Pallet	kg/Drum
1 fcl	Yes	20 ft	80	200 kg Metal	20	1.10X1.10m	4	200kg
1 fcl	Yes	40 ft	88-104	200 kg Metal	22-26	1.10X1.10m	4	200kg
1 fcl	Yes	20 ft	20	1 ton Carton Box	20	1.14X1.14m	1	1 ton
1 fcl	Yes	40 ft	124	160 kg Carton Drum	31	1.00X1.20m	4	160kg

Full Rail Container	Dry Transport Mean*	Туре	Drums**	Drum Type	Pallets	Pallet Type	Drums/ Pallet	kg/Drum
1 fcl	Yes	max 24 t	112	200 kg Metal	28	1.10X1.10m	4	200kg
1 fcl	Yes	max 24 t	136-140	160 kg Carton Drum	34-35	1.00X1.20m	4	160kg

Full Truck Load	Dry Transport Mean*	Туре	Drums**	Drum Type	Pallets	Pallet Type	Drums/ Pallet	kg/Drum
1 ftl	Yes	max 24 t	104-112	200 kg Metal	26-28	1.10X1.10m	4	200kg
1 ftl	Yes	max 24 t	136-140	160 kg Carton Drum	33-35	1.00X1.20m	4	160kg

\* For storage and transportation mainly ambient conditions are needed for cans & jars

- \*\* Loadings in accordance to the domestic maximum gross weight regulations
- \*\*\* Less container loads LCL (groupage load) mostly this is not an option





www.intercomm.gr



# **INTERCOMM FOODS**

# 





PEACH OR APRICOT PURE FRUIT DELIGHT. THIS PRODUCT IS A SPREAD OF FRUIT AND FRUIT PUREE WITH A STRONG GOLD-YELLOW COLOR. FOR INQUIRIES | +302410575092 | INFOSEC@INTERCOMM.GR